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e 2019 2XtZENEH| 2019 & =2 I
2 = =2 Oll AFOH (A) Oil AFOH(B) (A-B) -=s
(St X|KE) stA= JIXF 22 2,079,000
(BHMXIKE) Alst2 224 100,000,000%13/=101,600,000&
4329 J|ErSt M| 533,182 510,892 22 290
(BMTIRIE) MBS DHREAE J|ESAMZH| 51,300,0008
(SHMTIRIE) DRUIBI0IHA OEE 26| 20,000,0008
4400 DEH 2 76,462 118,480 ~42,017
4420 JIELu= b 76,462 118,480 ~42,017
(A& XIKE) Xl A H 2B Xl 9,292,568
(THREIHE) &&=4l 7,000,000
4500 ME2 4,949,916 4,959,916 4,959,916
4510 =2 4,949,916 4,959,916 4,959,916
(TesIieE) NEaENg qes &2 & 014 2.449,816,000
4519 HIS =23 =2 4,949,916 4,959,916 4,959,916
(D181gl) doAHA=)|2F & 2,500,000,000&
1300 11 fﬁg&””g 2.805,351 2,747 118 58,233
.l
1810 =2 IS AH&t 2,805,351 2747118 58,233
DHt:JIlE
[DASSHE] 0|2 YASCQ TEHIS 21,000,0008
(M2 3El) &7 EH0IX #=H|170,200,000& / EHIOI Xl A1
T0H 148,940,000
(2 3(E) Hoistels ~E2IT 20} 7,700,008 / A SH
OIAl 2ol 2101 =2l 3,850,000
1314 J1H217 OH ] 1,695,169 1,693,578 1,591 | (SI&E28) 2EI! 700 111,0002104=111,0002
(St=XHEBE) =S&d 2HA O|‘gﬂ AN 3,498,000 «1 CH=3
98,0009 | & == oI E(20H) 1,485,00091*2LH=2.970,0008!
[SSEBHA BI|472D] 2,200, OOOOJ*ZEH 4,400, OOO--'J
(AMAEXIKE!) 1,228 2olAl B AD1D1 WM 60,000,000, Al=22
2o A(ThS =) F017e &A1) 204 65,000,000
(A& XIKE) 2tSst Alsal 24 8,500,000, QA Xe|&Z2
JHHTS 201 400,000
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